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o FTIANBER. KNEE, HiH 11 Gunile not mixtire:is Lignt_ LTy ():

import Oven, Sifter, Bowl

oven = Oven()
bowl = Bowl()
sifter = Sifter()
oven.preheat(175)
ingredients = sifter.sift(
% [flour, ginger, baking soda,
cinnamon, cloves, salt])

=
WO WN PR,

12 mixture = bowl.cream()
. 8 13 bowl.add([egg, water, molasses])
~TERS 14  bowl.stir()
o NMATTESY 15  bowl.add(ingredients)
16 bowl.stir()
\V = T _\E= T 17 dough = bowl.get(walnut_size)
® HR*ZME/\/.I\I ] I 4 B % 123\*%’ \ﬁ 18 dough_ ro'L'Lw]_th( [sugar] )
19 dough.fl?tten(;
A ~ 20 oven.add(dough
® MN_-'}%%'}%8 1Oﬁ%¢| 21 oven.heat(8)
22 Tif not dough.welldone():
23 oven.heat(2)
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print (2+3)

B3

print (2+3+15)

B8

print (2+3+15+17+1+33+132+76)
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Z2MEERZRERPYython: Windows

e B NIRAEIVindowsEEELMINLZ K R
Python (32/ amd64) Z

ZEBRITG, WERXEBHPython

File Edit Format!ﬁun Options  Windows Help

h!fus:fhinfenv —————————————
"11add syntax bn =sourc

IDLE (Python

g
author = Check Module Alt+X

Run Module F5
import keyword, tokenize, cgi, re, functoo

import builtins

| J Comand Line = A/\‘f?ﬁl o except ImportError:
7\ @bﬁéﬁﬁmfjg/\lﬁ/j ________ B

###%## Lnalyze Python Source FF5555855888854

?FHJ}\qult () 5'% \\:HPYthOHDD 7 —_J— def iz builtin(s):

RetJrﬂ True if = iz the name of a leI

. as builtins

Python 3.5.1 Shell o7 x

=] 2 Z
o IDLE;EPythonBYRZ
Y = / I || File Edit Shell Debug Options Window Help i
(7aw] . Python 3.5.1 (v3.5.1:37a07cee5962, Dec & 2015, 01:38:43) [ =
ﬂ% D . M5C w.1300 32 bit (Intel)] on win3z

Type "copyright™, "credits" or "license ()" for more informa
tion

Qﬁﬁgl@m{fﬁm : Shell FE 1-:1’:1:11: ("Hello Py_-rt'ncn World in Cur Code World <3");

Hello Python World in Cur Code World <3
»>»» import math

ERAENARERL, REMNRGEERUE 0> amtien (en);

True

FH7EShel 1H{T# 2/ (Run—>Run Module) >

R KFHEMFIE/ X =1/2025




Z2MEERZRERPYython: macOS

. macosmgﬁpython’ 1&@[&%%;5 @€ |IDLE File Edit Format Jmpi,th;p::;\: Windovlv Help
=hRZAHPython

Python 3.5.1 -, 25969, Dec 5 2015

[GCC 4.2.1 5666) (dot 3)] on
Type "copyrit un DEHE S5 "license()" for

— , >>> WARNING: The version of Tcl/Tk (8.5.9) in
) ﬁ%fj’ﬁl' M “LaunChpad—>ﬁ %% Visit http://www.python.org/download/mac/tcltk
KRG “, thon3 |
z2\m i \py © LA o> print(244100)

1267650600228229401496703205376

RSN RIE ( Pyth ) 5>

| ne micchan@nis sdu.

[ NON ) bt.py - /Users/chenbin/pytest/bt.py (3.5.1)

e IDLEM “Launchpad” B ET
import turtle
o ﬁ%‘f?ﬁ“ *DIDLEEEWlndOWS—F_ﬁ turtle.tracer(Q)

p= turtle.Pen()

YoudaoNote
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EMHMERFERIPython: FHLinux

A

o FTPLinuxEPAE 5 Python3 i —

Python 3.5.2 (default, Nov 17 2816, 17:085:23)
[GCC 5.4.8 20160669] on linux

AOAN = (=] Pl B
o MTTIFEMREMRInH Apython3 Type "copyright. *credits! or "License()" for
1267650600228229401496703205376

S

ﬂ%}t:lﬂ]
A hello.py - [home/pyuser/pytest/hello.py (3.5.2)

File Edit Format Run | Options Window Help

® @Q%IDLEW % HZ%I H| print ("hello w python Shell

Check Module Alt+X

(BE— N BERSOMREIe3)
sudo apt install idle3

o BRIFR—1+

more information.

| pyuser@pyuser-VirtualBox: ~

S F(F) 4RIE(E) *TE{T]- ﬁEE*J{H}




~ FEIDLEGRRIBAIE{TPythoni2

IDLE m Edit Shell Debug Options Window Help

o BENIDLE
e File—>New File

o AENHImEERUC

o RTFABENH

TERIRGE “D: \homework” T{& “\ 15
XHERNER T

/homework”

BxR2ANHFR AR

PRI

RPN

85

e Run—>Run Modul eiz{TIERR

e 7£Python ShellCd

B35

T KF i HEAFR/ X = 4/2025

BITER

oo BITTTREEETE  riorss s
Python 3. Open.. #0 5969, Dec 5 2015, 21:
[GCC 4.2. OpenModule... - 5666) (dot 3)] on darv
Type "cop RecentFiles » or "license()" for more
>>> WARNI Class Browser #¥B Tcl/Tk (8.5.9) in use n
Visit htt Path Browser download/mac/tcltk/ foi
' Close BW
. Save 3#S

§>>> print Save As... 0 %8S B
126765060 f— el Con 376 Yy
o> ave Copy As...

=========  print Window ¢p : /Users/chenbin/pytesi
>>> |

import random
cs= ('green',

'red’',
def drawArtBTree(n, w, c):

'black', 'blue', 'brown')



SERFFAINE: PyCharm  [iRg

PyCharm CE ol

o ES‘ENGW PI‘OjeCt oo~ New Project

Location: /Users/chenbin/PycharmProjects/homework

paNiy /= . . . .
P B”%ghOmeWOI‘k i [>Interpreter. ¢ 3.5.1 at /Library/Frameworks/Python.framework/Versions/3.5/bin/python3.5

@ PyCharm Community Edition File Edit View Navigate Code Refactor Run Tools VCS Window

\ r
) ﬁE%Pyt h0n3 Bgﬁg%g [ NON ) 7| bubblesort.py - homework - [~/PycharmProjects/homework]

homework ) | bubblesort.py ) bubblesort + m Q |
Project - € = | - I© [a bubblesortpy X [@& guitestpy X (@& work2.py X [@& apy X
° Py /\J %a_ homework ~/PycharmProjects/homework 1 def bubbleSort ( 'I_St) .
¢ % Jl:l File=>Newee- §|% BI S S PYthOn 3 6,201oweather osv 2 for pnum in range(len(lst) - 1,
. ™ bj2016weather.xis 3 for i in range(pnum):
File & bijpm25.cev 4 if 1st[i] > lst[i + 11:
Pbu_bblesort.py 5 1.St[1], lSt[l + 1] -
@ guitest.py
— & 25 ‘i 4 Fenriom . lst = [23, 45, 12, 100, 10, @, 9]
SRSHEIRERSES ST
® E Egﬁa&ﬁ mS1E i External Libraries 8  bubbleSort(lst)

9 print(lst)
10 st = ['aa', 'bzx', 'kylis', 'google

° Run—>Runm§|%ﬁﬁ'$§r_P; 11 bubbleSort(lst) :

12 print(lst)
13 |

I \ T 1 _>P h C 1 N l P Run & bubblesort E 2O
. D u OO S Yt On OnSO e (m] | UD > /Library/Frameworks/Python. framework/Versions/3.5/bin/python3.5 /Users/chenbin/PycharmProjects/homework/bubt

e, 9, 10, 12, 23, 45, 100l
/\\/_ l— éé \£ ['aa', 'baidu', 'bzx', 'google', 'kylis']
7 ‘fjﬁl l;l%m{j——/i\la D, &) Process finished with exit code
=
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e KR LER—
BYmiEes

o JURBNTSIMESHER

Python / C / C++ / Java / HIMLEZH

o IR51ERR/G, Build->Execute

(QJLA#ESet Build Commands®HigE
Pythonfi# e g5HIRR A )

Geany

—ANE

AN

=i

MITHE

FPINREEVAY

T KF i HEAFR/ X = 4/2025

@ Geany File Edit Search View Document Project m Tools Help

[ NON )
H O v B x

mergesort.py - /Users/chenbinlq Compile F8 Eeany
g = v & [ Lint al.

Symbols | Documents mergesort.py x Make {tFo
v 4» Functions 1 # merge sort Make Custom Target... {r38F9
¢ merge_sort[9] 2 import random Make Object @rs
o» mergingsort1 [5] 3
v  Variables 4
o Ist[21] g Tdef mergingsort1(1lst):
v |} Imports 7 pass Execute F5
I DR ] 8 Set Build Commands
9 Edef merge_sort(1lst):
10 = if len(lst) <=1
11 return 1st
12 middle = int(len(lst) / 2)
13 left = merge_sort(lst[:middle])
14 right = merge_sort(1lst[middle:])
15 merged = []
16 o while left and right:
17 merged.append(left.pop(@) if left[0] <= right[
18 merged.extend(right if right else left) ’
19 *G return merged
20
21 1st = [random.randint(1, 100) for _ in range(50)]
22 print(merae sort(lst))

Status  23:25:08: This is Geany 1.29.
Compiler  23:25:08: New file "untitled" opened.
Messages 23:25:20: File untitled closed.

Scribble ' 23:25:20: File /Users/chenbin/Documents/H%##4/0-FiEH%5/dsa/mergesort. py open

Terminal




?rogramiz

— L AIPythonfifiEss

e Python Online Complier — I

1 # Online Python compiler (interpreter) to run Python online.

ht tpS : //WWW. programi Z. Com/python_ 2 # Write Python 3 code in this online editor and run it.

3 print("Hello world")

programming/online—compiler/

e Online Python =ao>c

main.py +

. 1
ht tpS : //WWW. On]_ 1ne_python_ Com/ 2 # Online Python - IDE, Editor, Compiler, Interpreter

3
4~ def sum(a, b):
5 return (a + b)
6
7 a = int(input('Enter 1st number: "))
8 b = int(input('Enter 2nd number: *))
9
10 print(f'sum of {a} and {b} is {sum(a, b)}")
11

Ln: 11, Col: 1

» Run ¢ share | Command Line Arguments

L

T KF i HEAFR/ X = 4/2025



F—1 1Pythoniff): EHITHRS

e FJFHIDLE
e Python 3.5.2 Shell —
o 7EPython ShellChifi \iBfg)  fe ft shel bebug options Window help

Python 3.5.2 (default, Nov 17 2816, 17:085:23)
print (”Hello WOI‘ld'”> [GCC 5.4.8 20160609] on linux

Type "copyright", "credits" or "license()" for more information.
=>> print (' ‘Hello World!" )
Hello World!

e \— j— >>> print (2**180)
) hfangﬁj T#D%' 1267650600228229401496703205376
- )
=== 2%%100
1267650600228229401496703205376

o TJDUifE2100y !
o HOLIEBRAER, UHERE
o BRRNNKERZICIA
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F£—1PythonfE~: Hello World!

o EI:]- IDLE @€ IDLE File Edit Format m Options Window Help
’ [ NN hello.py - /Users/chenbin  Python Shell 0.py (3.5.1)
- o L 1] |II
e File—>New File print ("Hello World!™) = o\ Modue X

Run Module

o HIAE

print (“Hello World!”)

° Flle—>Save @ |IDLE File Edit Shell Debug Options Window Help

print ("Hello World!")

[ NON Python 3.5.1 Shell
Python 3.5.1 (v3.5.1:37a07cee5969, Dec 5 2015, 21:12:44)

[GCC 4.2.1 (Apple Inc. build 5666) (dot 3)] on darwin

Type "copyright", "credits" or "license()" for more information.
>>>

============ RESTART: /Users/chenbin/Documents/homework/hello.py ==
Hello World!

>>>

e Run—>Run Module

E K F i EIF R/ X = %/2025



Pythoniz%: fEiag. Tt
e PythonfRISHHERS o CIESHRIDHHERS

def merge_sort(1lst):
= if 'l_en('LS-t) <= 1 Bvoid merge_sort_recursive(int arr[], int reg[], int start, int end) {
' if (start >= end)
B return lst return;
middle = int(len(lst) / 2) int len = end - start,dmid = ((jlen >> 1) + start;
" int startl = start, endl = mid;
left = merge_sort(lst[:middle]) int start2 = mid + L, endz = end; i
; —_ : . merge_sort_recursive(arr, reg, startl, en H
rlght - merge_sort(lst[mlddle. ]) merge_sort_recursive(arr, reg, start2, end2);
merged = [1] iﬂtlk T start; ] i)
= : . while (startl <= endl && start2 <= end2
= while left and rlght' . ] reglk++] = arr[startl] < arr[start2] ? arr[startl++] : arr[ste
- merged.append(left.pop(0) if left[0] while [starti < endl) ..
merged.extend(right if right else left) while %s[taracz_c erEdZ) ]'
- reg[k++] = arr[start2++];
return me rged for (k = start; k <= end; k++)
} arr[k]l = reglk];
Evoid merge_sort(int arr[], const int len) {
int regllen];
merge_sort_recursive(arr, reg, 0, len - 1);

R KF I HEIF /3 =H/2025



iagaiH: AR INEERIG—

static OSStatus
SSLVerifySignedServerKeyExchange(SSLContext *ctx, bool isRsa, SSLBuffer signedPa
uint8_t *signature, UIntlé signaturelLen)

0SStatus err;
if ((err = SSLHashSHAl.update(&hashCtx, &serverRandom)) != @) There are only tWO
goto fail; 3
if ((err = SSLHashSHAl.update(&hashCtx, &signedParams)) != @) types Of people'
goto fail;
goto fail; (condition)
if ((err = SSLHashSHA1l.final(&hashCtx, &hashout)) != @)
goto fail;
err = sslRawVerify(ctx,
ctx->peerPubKey,
dataToSign, /* plaintext */
dataToSignLen, /* plaintext length */
signature,

signatureLen);
if(err) {
sslErrorLog("SSLDecodeSignedServerKeyExchange: sslRawVerify "
"returned %d\n", (int)err);

goto fail;
b
fail: )
e Fresburfor(2hachcon; if ((err = SSLHashSHA1
) return err; gﬂ'tﬂ 'Fail_;

if ((err = SSLHashSHAl
goto fail;
goto fail;

if ((err = SSLHashSHAl
goto fail;

err = sslRawVerify(ctx
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o PythonBYsRMI4EHASESTAL S KEED
o ?J%ﬂ‘]ilﬁ’ REYRIZME

LTE. W, E£mBD
TR
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e Programs are meant to be read by
humans and only incidentally for

computers to execute. —Donald Ervin
Knuth
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DONALD E. KNUTH 11-3167/1210
COMPUTER SCTENCE DEPARTMENT o1 453
STANFORD UNIVERSITY
! STANFORD, CA 94305-9045 Duc O %! 2[

§ pnvtntlw >

: (LJNIM_-mﬂsﬂ—h $2.50C
PP G —Y /o. Dellae B

America California Bank
2390 El Comino Redl Pdo Allo, Cdifamnia 94306

1628 7 /

123230386 7350L53 ORE558LR06"

EFRRIHEEAE

o BREZE CrENERIRITEARY

e NIBZEHRIERER, HxITHRN
HFRRIRFTEX

O\ = B T
BlEIRASS. 14159265, ExfoEn The Art of Computer Programming

%@Jﬁ]bug }% ZZ %’ }A 1 28% ﬁﬂ%ﬁ@ﬂ 1%’ 1@ : Combinatorial Algorithms, Part 1
BIRENAFTAENBEREER R |

e Averam

88 —  The Art of Computer Programming E T
- - Sorti Adiatsis 3
o FRIBHIRICAKMPEA = gl 5, ST

The Art of Computer Programming

[ 1974&3%{{%- 5§ ﬁ%@ Seminumerical Algorithms

] = The Art of Computer Programming FESER . s
Fundamental Algorithms [

T RKRF I EF R/ R =1/2025
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K int, FoFfloat, S complex, B
B{Bbool, ZRFLstr

BSELRARALAXLEEF

HlFlist, Jp2Btuple. EEHGset. THdict

IR 28] L F & UFER

M=
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PythonZ§iE258Y . B#int, Fa#ifloat

o RAHFFREBAPRHIZR/I
o BRHZHITNBVHS

e BNRNZEBRF/I. Bl 3
BIR. KR, BEHFE

o BRHUBVBIELEANS

R

e — LU E ABNHZTXHY

sqrt/s1n/cos§§%$%EmathEEﬂQC

import math

math. sqrt (2)

T KF i HEAFR/ X = 4/2025

>>> 5

5

>>> =100
-100

>>> 5 + 8

13

>>> 90 - 10
80

>>> 4 x 7

28

>>> 7 / 2
3.5

>>> 7 // 2

3

>>> 7 % 3

1

>>> 3 %k 4
81

>>> 2 xx 100
1267650600228229401496703205376
>>> divmod(9, 5)
(1, 4)

>>> |




PythonZiiig3E8: S&)

o Python AEXVEHHITE

o« XRFMBEENNEHITE

o XIBHENHSFREARIRcnath
]

C

LT

import cmath

cmath. sqrt (1+23)

T KF i HEAFR/ X = 4/2025

>>> 1+43]

(1+35)

>>> (1427 )*(2+37)

(-4+73)

>>> (1+27)/(2+37)
(0.6153846153846154+0.07692307692307691j)
>>> (1427 )%*%2

(-3+4j)

>>> (1+2j).1imag

2.0

>>> (142j).real

1.0
>>>




PythonZfiiEssEl: Z2i15(H

>>> [rue
\ =N T
o BHEENXBIETrue/FalsefA ™ >>> False
R W False
° ‘~ﬂ%ﬁafﬁif/while%?ﬁgfﬂﬁﬂﬁﬁﬂﬁ#ﬂ >>> 1>2
&ﬁ False
>>> 23<=34
. HTMEXRTMERNSEE: e e
BIOORUE : 053E0%F False
>>> boo1(999)
True
>>> 1T (2>1):
print ("O0K")

T KF i HEAFR/ X = 4/2025



PythonZiiig3E8d: =5k

o RANKREPYthonZRFEAT B
o, REEERFTEIFTER

o FAXXSISHERSISEIURTT

_'
0

u

TRA=TESRS|ISER
%‘i JEXRTS “\” RN
gt

HITRIS \n

o FRISPERE:
HERE, 8. lenkE

[start:end:step] FBRIZEN—339

T KF i HEAFR/ X = 4/2025

K

>>> 'abc
"abc'
>>> '""abc
"abc'
>>> '''abc def

ghi jklll

'abc def\nghi jk'

>>> "Hello\nWorld!"
'"Hello\nWorld!'

>>> print ("Hello\nWorld!")
Hello

World!

>>> 'abc' + 'def'
‘abcdef’|

>>> 'agbc' x 4
'abcabcabcabc'
>>> len('abc')

3

>>> 'abcd'[0:2]
Iabl

>>> 'abcd'[0::2]

Iacl



PythonZiiig3E8d: =5k

o —LHRNIRIE:

split: DE|; join: &FF
upper/lower/swapcase: A/|)\EEx
1just/center/rjust: HERRA PEXYTF

replace: FipS

E K F i EIF R/ X = %/2025

>>> 'You are my sunshine.'.split(' ')
['You', 'are', 'my', 'sunshine.']

> '—'.jOin(["One", ||.’:0r||' "TWOH])
'One-for-Two'

>>> 'abc'.upper()

"ABC'

>>> 'aBC'.lower()

"abc'’

>>> 'Abc'.swapcase()

"aBC'’

>>> 'Hello World!'.center(20)

: Hello World! :

>>> 'Tom smiled, Tom cried, Tom shouted'.replace('Tom', 'Jane')
'Jane smiled, Jane cried, Jane shouted'




PythonZFz83R8!: 5IFRHTHE

o PythonHJ|FPERIZR —RIITTER FRFERstr
AR, UBREIENRSI 0 1 2 3 4 5 6 7

o IRBstriB—MPAXTRAFBI (Hlell || o Tlo

o NFR1istHITTAHtuplel|TJ AT LA Bllist
QRBNITR, RAREI 0 1 9—@ 4195 %g 17

o TLHRANEBRSRH (ROZE) BI 123 2.4 | 'ab' | e |none [[1.2]](2,3)] 556

SRS B BRI

JGZtuple

3 4 5 6 /

fian
o
=
N

o JIRNTIUMER. R0, BiR. E

|PBYTT
}%Effiu 9975% 123 | 2.4 | 'ab’' | True | None |[1,2]](2,3)| 556
XK=

T KF i HEAFR/ X = 4/2025



>s> [] >>> ()

N oo 1] . — [] ()
@EE’*CE' 5“%*“7525 >[T> List() T?> tuple()
>>> alist = [1, True, (>>> atuple = (1, True, 0.234)

. BIRBIE: [ IREFList) 7ot > atuptelel
>>> alist + ["Hello"] >>> atuple + ("Hello",
MET48 - [1, True, 0.234, 'Hell((1, True, 0.234, 'Hello')
% E'I' _=7D"ﬁ° ( )Q%tuple() >>> alist * 2 >>> atuple x 2
. _ [1, True, ©0.234, 1, Tri(1, True, 0.234, 1, True, 0.234)
o AZEINFEGTR TIERTL) -+ toniser | 5% len(atupte
3 3
_ 4 e, >>> 1 in alist >>> 1 in atuple
o T: ﬁf%ﬁ/l\ﬁl.l%/mzﬁ True True
>>> glist >>> atuple
. \ - == [1, True, 0.234] (1, True, 0.234)
o *: g%”n/k’ E:ﬂi%ﬁﬁ”?ﬁ/méﬂ >>> alist[1:3] >>> atuple[1:3]
[True, 0.234] (True, 0.234)
. 4B T N\ >>> alist[0:3:2] >>> atuple[0:3:2]
o lenQ: IR/ TTAPITTRETE [1, 0.234] (1, 0.234)
. , i >>> alist[::-1] >>> atuplel[::-1]
e in: ENITEREBEGTE [0.234, True, 1] (0.234, True, 1)
[0] =
[ [Start : end : Step]: tﬂ):ll_ ;?Zczgggke(gost lr:'géciﬁt call last):

: File "<pyshell#93>", line 1, in <module>
>>> alist[@] = False o i

. atuple[@] = False
>>> glist TypeError: 'tuple' object does not support item assignment
T RFHHEIFR/ 2 =H#/2025 [False, True, 0.234]



HElistIEHERHiE
RiERR =l e 111z

append alist.append(item) FIEFXKERINTTE=
insert alist.insert(i,item) #I|ZEDINBIFENTE=
pop alist.pop() MbrsE— 1R, FREHEE
pop alist.pop(i) MpRSEI1M TR, FHREIEE
sort alist.sort() gERIT=HEF
reverse alist.reverse() gEhtE&EHES
del del alist[i] BRI TT=
index alist.index(item) #ZF|itemBIEREHIMIE
count alist.count(item) R[ElitemEYIFEDLEINAIREL
remove alist.remove(item) FitemBIE X LIMIER

E K F i EIF R/ X = %/2025



T XXBRTE S| HIBR

o BTFZEERSIANM

INEZERIFREIR

MEESIBA— IR ERAXNR

HI— P REHZ s L LANIR

e HPTEHERITHET vttt (s s g comer 0 )

[r1, 2, 3, 41, [1, 2, 3, 4], [1, 2, 3, 4]]

Ol
Kot

R
2
&
i
i

o
&
i
\m
;o

}

myList = [1,2,3,4] [[1, 2, 45, 41, [1, 2, 45, 41, [1, 2, 45, 4]
alist = [1 2 3, 4] A = [myList]*3
print(A) p
blist = alist myList[2]=45 Frames Objects
print(A)
o ’ ) line that has just executed GLEEL TS list
bllSt I:O:IZ abC == next line to execute myList 01 12 245 34

O A
< Back Program terminated Forward > L\(“st
0 A1 /|2

Visualized using Python Tutor by Philip Guo

T K F I EIF /3 =E/2025 < s



= RRIELLFY S pkER

e range (n)

MOFn-18YF5 3

e range(start, end)
MstartZlend-1893]

e range(start, end, step)
MstartFend-1, K Ef@step
stepQ] L 12K

e rangeRFVR O rangeX RN R,
O U BEEZHSIFBIIA, Wolligik

7]11st22%§tup1e§§é§§§§§ﬁ

T KF i HEAFR/ X = 4/2025

—

. rangeif 3y

>>> list(range(10))

6, 1, 2, 3, 4, 5, 6, 7, 8, 9]
>>> list(range(5, 10))

(5, 6, 7, 8, 9]

>>> list(range(1, 10, 2))

(1, 3, 5, 7, 9]

>>> list(range(10, 1, -2))
[10, 8, 6, 4, 2]

>>> range(10)

range(0, 10)

>>> tuple(range(10))

(6, 1, 2, 3, 4, 5, 6, 7, 8, 9)




Flset () Bl @EE
OJAHset 0 NEERIIFFRENE

SRR

in: ¥IMTTRERESRTES
|, union(): FE

& intersection() : &
—, difference() : EE&

, symmetric difference() : &g

<050 IER/ATE/BE/AEBE

T KF i HEAFR/ X = 4/2025

Op

Al

>>> set()
set()

>>> gset =
>>> aset
{ICI, IaI'
>>> 'a' 1in
True

>>> aset |
_{ICI, Idl,
>>> aset &
{ICI, |b|}
>>> aset -
{'a'}

>>> gset #
_{IaI' Idl}

>>> gset <= set('abcd')

True
>>> gset >
False

set('abc')

Ibl}
aset
set('bcd')
Ial' Ibl}

set(['b', 'c', 'd'])
set(('b', 'c', 'd"))

set('bcd')

set('abcd')



e add(x) : &8
=

e remove (x) :

e pop(): MHBRE
HiE

o clear() : BTEESHNTE
e IRERBEBYHIM TRESE A

PITTR
~EPHERIEETTR
SEPERTRIIRO

Al

HEP, JZW%%EI’J/RFK 3%8’9

18, ?ET"E

REGBEIMRE

T KF i HEAFR/ X = 4/2025

|

>>> gset

{ICI, |a|, Ibl}

>>> aset.add(1.23)
>>> gset

{'c', 1.23, 'a', 'b'}
>>> aset.remove('b"’)
>>> gset

{'c', 1.23, 'a'}

>>> aset.pop()

Icl

>>> gset

{1.23, 'a'}

>>> aset.clear()

>>> gset

set()




Rrohd: FHdict

IR B I BEkeyRRSITTHR
value, MABRIIZTEEIZESN
%ﬁﬂﬂ%%gl

o 5 '§§%E§I§E§§i§2ﬁg,

BIRITTR

Python®

=5 |

I}

ORI, HHIER

4

o FHIPAITRvalueRBINFE, T
s ma e it

o FHONBEKeyTUREARTE
KA (KB / R / T5h)

T KFHHEMF R/ X =4/2025

>>> student = {'name':'Tom',
'gender': 'Male’,
>>> student

‘age':20,

'course':['math', 'computer']}

{'name': 'Tom', 'age': 20, 'course': ['math', 'computer'], '
gender': 'Male'}

>>> student['name']

'"Tom'

>>> student['age'l

20

>>> student['age'] = 19

>>> student

{'name': 'Tom', 'age': 19, 'course': ['math', 'computer'], '
gender': 'Male'}

>>> student['course'].append('chemistry"')
>>> student

{'name': 'Tom', 'age': 19, 'course': ['math', 'computer', 'c
hemistry']l, 'gender': 'Male'}

>>> 'gender' in student

True

>>> student.keys()

dict_keys(['name', 'age', 'course', 'gender'])

>>> student.values()
dict_values(['Tom', 19, ['math’',
Male'])

>>> student.items()
dict_items([('name', 'Tom'),
'computer', 'chemistry'l),

'computer', 'chemistry'l],

('age', 19), ('course', ['math'’

('gender', 'Male')])




E RV NS e 2

o -)\3 35]5%% >>> alist=[ [23, 34, 45], [True, 'ab']]
>>> alist[0][2]
=BT RE —LIFE 45
>>> bands={'Marxes':['Moe', 'Curly'], 'KK':[True, 'moon'l}
alist[i][]j] >>> bands['KK'] [@]
True

>>> poi={(100,100): 'Zhongguancun', (123,23):'Pizza'}
(—— N = - 4 .
o FHIPTTRUURERKE, EXE TZEOES;E;iEﬂ;,%%”
B UR S

bands={’ Marxes’ : [ Moe’,’ Curly’ ]}

HANRBEITUREERATT LR
PIWATTARIERLIR, RSITT

. 3

»
/g N\

poi={ (100, 100) :" bus stop’ }

T KF i HEAFR/ X = 4/2025



PythonfRRJZEabEaTT

e PythonTP & Ol

E8Y7RE8, BIBIEIE

WES =" ZDERTE, Rt

o IEEBINTRAGFE

o RIEFIRIE “BIK", 8

o XV EHR{TMH

EB’SKI

T KF i HEAFR/ X = 4/2025

8 TCEVIBIE

35



PythonZEEH\4: SIFLIRNIS

e MHEIEDQthe sum = 0,

SNV b

Bl s 2N the sumEl’Slxg, REiE

QIR “0”

o FINZETLUENIEOE

A —"TE

BXNR, tbWTrue, 1.02, ZH

“Hello”

o TEMXRABEEIRONEIBIRE

UM !

T KF i HEAFR/ X = 4/2025

the sum ~<




PythonF R E&BETEET

> WREHRITIE, SHRERRERRRTEL

T KF i HEAFR/ X = 4/2025

37



PythonRRJZEabEaTT

A\

> A—TR&0NAa—1TEEl

MTEZEROA—T5

T KF i HEAFR/ X = 4/2025

ERIRELL

V

38



Python T BIFI R Zs A
o NOLHEE

HF
SRS
JTAH

o« BRIE

=

EiREEZ

o JTLANZHINH

T KF i HEAFR/ X = 4/2025

=97
BHiRE

— PFIXIR

SELE il
DT
E=A0
S

JBREE, T A

AERNTETgEE

B

0@

— TR



—iE: B
TEERNEEERE

def swap(x,y):

X,y = y,X
x[0],y[0] = y[0],x[0]

a = [1,2,3]

b = [4,5,6]

swap (a,b)

print (a)

T KF i HEAFR/ X = 4/2025

\o
\o

o
\o

o
\o

N Ul U1 N
w O O W

NER DR

\o
v



X—E#E
_FTisz?E'Ji@tj

ERTE:

a = [[0]] * 2 + [[0]] * 2

print (a)
a[0][0] = 5

print (a)
A) [[5],

L5
C) [[51],
e

I®I Iu1l Iu1l I®I

#4

1
? :5:
? :@:
» L5

[[01, [O0], [O0], [O]]

» (0]
» [5]
» (0]
» (0]

41



is IZBRHF == X5
e a is b ATrue Haflb FEOE—IEH

e a == b NTrue RBPaFIbIEOBIWSHIBRIGAED, ERFIbA—ELED
E|=IENp Y]

e a = b &FBaFbisaE@— NS

7 kit EAE /3 = i/2025 42



is IBEGH == X3!
x is y R®xMyRdEQLG—MEH
x == y ®xAlyBIARBSESHEE

a = [1/2/314] a > [1/21314]
b = [1/2/314]

b > [1/2/3/4]

print( a == b) #>>True

print( a is b) #>>False

7 kit EAE /3 = i/2025 43



is BRI == X3!

x is y ‘mxflyediEnl—1 o
x == y Xy IAB2EHEE
a=1[1,2,3,4]

a [1,2,3,4]
b = [1,2,3,4] /
b > [1/2/3/4]

print( a == b) #>>True ///// ]
print( a is b) #>>False C

c = a

print( a == c) #>>True

print( a is c) #>>True
TR FH A/ 3 = /2025 44



is 1IZEIFF ==

af[2] = "ok"

HIX 5

print(c) #>>[1, 2, 'ok',6 4]

INaflcig@mE—mNieA, PTBUBRar2], c[2]1tEZ,
a[2]F0c[2]1 RE—17RFE a /

T KF i HEAFR/ X = 4/2025

A 4

[1,2, 'ok'

4 [1121314]

4]

45



is iIBRIFH == X35!

e X¥int , float, complex, str, tupleZXRIWTEaflb, REXF a == bES
1L, —MBATEXTE a is bEBM1I. AXLEHBEASGEHASEN, IS
A aiBaIRNZREEN S hiEONRBHRIEETHIBER

o XV list,dict, setiﬂgﬁ'ﬂ L Eaflb, a == bF] a is bNGSREE %%Eo
X LEHMIBEAEENE., NET JTaf5ANAS, RAEbEANAS

T K FH Eh R/ R = H#/2025 46



HNRTERIRFT PR
> DERNTERBIGLURE, BIHHEEE

a=1[1,2,3,4]
b=101,2,3,4]

TETRAYRER : a
al0],a[1]....b[0],b[1] ..... ZREE5T b

T KF i HEAFR/ X = 4/2025

v v
L, D
- -
SO | R —
- -
— , ) .
- -
h




HNRTERIRFT PR
> DERNTERBIGLURE, BIHHEEE

a=1[1,2,3,4]
b=1[1,2,3,4]

;EE%HI‘J&:Q% a g [l/ ro|r
1

H4T b[0L,b[2] =94 J5 b \[ ,

7 kit EAE /3 = i/2025 48



FRTEBIRET PR

. NENTRLTMRE, Bttt
a=>b =[]

a.append (1)

print (b) #>>[1]

a = [[0]] * 3

#arRRY3 e EERE—KIIFR (0]
a[0] .append (1)

print (a)

11, [0, 11, [0, 1]]

b kﬁ it A 'j[‘Fig/jOK E/2025



ToHTTERNRE PR
5 &, Bte

- TLHNTTRBRNIE

a=1_[1,2,3,4]

b = (100,a)
a[0] = 1000
print (b)
#>>(100, [1000,

T KF i HEAFR/ X = 4/2025

<

2,

3,

4])

B

50



BAFSEE: input/printi&Ey

¢ 1nBUt@f_ompt) >>> yname = input ("Please input your name")
SR NMESprompt, BAPEIABRSLL Please input your nameTom Hanks

s 2N >>> name
SRR VRO S
>>> print (1, 23, 'Hello')
. L oo 1 23 Hello
e print (Vi’ VZ’A v3, ) >>> print (1, 23, 'Hello', end="")
ITENS L ENERIT 1 23 Hello

R i . = £ >>> print (1, 23, 'Hello', sep=',"')
JiFES#end=" \n", FRENIRIT, "I  1,23,Hello

ENBRX TSRS SRE T et (23, 'Hello")
WSHsep= T, RERTME, "ZMEREZ >>> '%d' % (23,)
BT 2= SRTT >=2>3 '(%4d) :K:%s"' % (12, 'Hello')
'( 12):K:Hello'
- T T st 2, e

“%d %s’ % (v1, v2)

T KF i HEAFR/ X = 4/2025



EHIRR): JE., HERMWE

o JRANHENR, JUBISZSHZEA

NERBFRIAT

o BRARMNENR, WIJLUROIHIE, BT

VEFEBSEYIFR Ncallable

RN ENR, FREEDIMENEES, WREZ

N, SERBESE

ANIBRFBSHREHXENR2IRNEERZNE S, NEBH

CREREH

o RRIEXINHER
, FRRBE

T KF i HEAFR/ X = 4/2025

R

O

1

=k

75l

>>> 12 x 34.5 + 23.4

437 .4

>>> ('abc' + '"123') % 3
'abcl23abcl23abc123"

>>>

>>> import math

>>> math.sqrt(12)
3.4641016151377544

>>> math.sqrt

<built-in function sqrt>
>>>

>>>n = 12 x 34

=>>> N

408

>>> p2 = math.sqrt(2)
>>> p2
1.4142135623730951

>>> pfg = math.sqrt

>>> pfg

<built-in function sqrt>
>>> pfg(2)
1.4142135623730951




TR EEa9/)vz15
. REYREED v A

>>> a, b= ['hello', 'world'l]

— N >>> 3
o ZNTENHIE ‘hello'
a, b = [ hello, 'world ] >>> b

'world'
. TR >

>>> a, b =Db, a
a, b=D>b, a >>> g

'world'
o [=) >>> b
i_E?FE "hello'
>>2>
n %= 45 >>> g +=
>>> d
'worldcup'

T KF i HEAFR/ X = 4/2025



FEwlimiaa: Ff

o FMHEQ

if GBEERM>:
QBQH

elif GBEEFE>: #O/lIZPelif
GBQH

else: #{X1D
QBT

o ZMERPHELFESEMTIERN
False, HPENIETrue:
None, 0, 0.0, '’

1, O, 1, set(

T KF i HEAFR/ X = 4/2025

>>> g = 12

>>> 1T a > 10:

print
elif a > 6:

print
else:

print

("Great!")
("Middle!")

("LOW!")




l=#liRiEa) . whileff§i 4

>>> n = 5

o FKME{EFRwhile L
while (GBEEFRAE: if n< 2: '
break §
QEQED print (n)
break #BPKHIBEIA
4 >>>n =5
continue HIEN R NEIMED 3 >>> while n > 0:
n=n-1
QBOER I, ifn<?2:
— t1
Ise: #RHRNRBEBIREBIN, WHIT orint oy
5 else:
GBTR> print ('END!')
o else PO UHIMBINAREERE 5
break

E K F i EIF R/ X = %/2025



>>> for n in range(5): >>> alist = ['a', 123, Truel

| ERIES: forfEn S S
o IX{V{Efor:

for <T&> in <Ok
IBOER

A

APWNREROO

>>> adic = {'name':'Tom', 'age':18, 'gender':'Male'}

break #PLBIA >>> for k in adic:
continue #IEIIFHR MBEIMETD) print (k, adiclk])

else: #IX{5oEe, AT

name Tom
QBOER age 18
gender Male
P jﬁ{ﬁﬂ%ﬁ?ﬁ%;ﬁﬂé >>> for k, v in adic.items():
SRR, JIER. TH. T, £5% print (k, v)
OB aEiREIBVAEMSS. XUEsH
name Tom
age 18

gender Male
AT K F AL e/ X =i /2025



ST

o TDAFRLE/IIZR. SHIMESINED
[KFRIAT for <E2> in QAR if GBEEFRME]

{BEKRATIV TLEFRIATY for <S> in <OLHERXR> if GBEFRG>]
{[GTHRFTIATY for <> in <OXAXNS> if BERMED!

>>> [xxx for x in range(10)]

[0, 1, 4, 9, 16, 25, 36, 49, 64, 81]

>>>

>>> {'K%d'%(x,):x**3 for x in range(10)}
{'K2': 8, 'K8': 512, 'K5': 125, 'K6': 216, 'K3': 27, 'K9': 729, 'Ke': 0,
'K7': 343, 'K1': 1, 'K4': 64}

>>2>

>>> {xxx for x in range(10)}

{0, 1, 64, 4, 36, 9, 16, 49, 81, 25}

>>>

>>> {x+y for x in range(1@) for y in range(x)}

{1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17}

T RF I EIF /3 = /2025 <




>>> [x+y Tor x in range(1@) for y in range(x)]

(1, 2, 3, 3, 4, 5, 4, 5,6, 7,5,6,7,8,9,6,7, 8,9, 10, 11, 7, 8, 9
, 1o, 11, 12, 13, 8, 9, 1leo, 11, 12, 13, 14, 15, 9, 1o, 11, 12, 13, 14, 15
, 16, 17]

==

>>> [x*kx Tor x in range(1@) if x % 2 == 0]

[0, 4, 16, 36, 64]

>>>

>>> [x.upper() for x in [1, 'abc', 'xyz', True] if isinstance(x, str)]
['ABC', 'XYZ']

T KF i HEAFR/ X = 4/2025



ER=RIEST
. SESR—HBE:

]

(GLEFRIART for <> in <Ok

o X

J

~

]

TTRNNIEAE

R, JRIRKREARE

T KF i HEAFR/ X = 4/2025

AXTR> if GBIEREP)
—MERSGXR, HEIYEANR, B

2N

>>> agen = (x%kx for x in range(10))
>>> agen
<generator object <genexpr> at 0x1078f5620>
>>> for n in agen:

print (n)

E2 TR, NER




5k EBException Handling

. RBEFTELRI SR -
1BYATBIR: Syntax Error ;
FRLOEENR . ZeroDivisionError 4
D= MRS . IndexError Z»
XAVFEIR . TypeErrorses 7

8

o HIRGSIEEFRPLEH, WRFEEER ©
2O, MRBRATRLERBOIRER 10

BHImIEEEIR 11 fina'l.'l.y_: - .

try: § EHREIL B 28| L hrinil rinatly...")

except: # RMBEIRAINLT

else: # 5&@&"%%%’/@9’91'%6% %;;éllfr."ror: unsupported operand type(s) for /: 'int' and 'str'
finally: # TIOLEE, BHITORTE w

T KF i HEAFR/ X = 4/2025

try:
print('try...")
r=10 / 'xyz'
print('result:', r)
except TypeError as e:
print('TypeError:', e)
except ZeroDivisionError as e:
print('ZeroDivisionError:', e)
else:
print(‘no error!")




FZfunction

o RHARNETHMWINENNBRNS,
UBESER (reuse)

o ENXNKHE: defiBD);
def <RER> (KBSHFK>):

GEHssE> /

def sum_list(alist): # TENX—"7THEZE0REL
sum_temp = 0@
for i in alist:
sum_temp += 1
return sum_temp # REUR[EE

coo~NOUT S WN B

print(sum_list) # EEREIIZRsum_list

return <KHORO1E> 10 my_list = [23, 45, 67, 89, 100]
11 # ARRE, FREMEM{EZmy_sum

. 12 my_sum = sum_list(my_list)
° ﬁﬁﬁ@%& <|Z|§Q%> (<§§Q>) 13 Y= I Y-

; print(”sum of my list:%d"™ % (my_sum,))
TRIGS!

TROME: (WHD> (SHR) g-::function sum_list at 0x10067a620>
ROEBEEE: v = <RHR> (KSHFR>) sum of my list:324

T KF i HEAFR/ X = 4/2025



EX NS : BEESH / JEZSH

= \Y ™E .
° EX@%&W, %%{quﬁﬁi@’ 16 def func_test(keyl, key2, key3=23):
17 print("kl=%s,k2=%s,k3=%s" % (keyl, key2, key3))
o —MPERASHRIEHSHDkeyWNSH, -
E?"@F?*Dg{% 20 print("====func_test")
def func (keyl, key2, key3ees): 21 # "EHENKey3, BTREE
22 func_test('vl', 'v2')
def func (keyl, key2=value2ss): 23 # ENTkey3

24 func_test('ab', 'cd', 768)
\ . 25 # [EHSH2MH eI ARNEIRF
o —FIRENNMARNBEETZ/ DSHIEAN 26 func_test(key2="KK', keyl='K")

NTTSH -
def func (*args): #ATEkeyNZ NS ====fUﬁC_tESt

fi/ef func (kkkwargs) : #key=valFEPNZ 1S kl:wl ’ |(2:‘U'2 y k3:23
2 kl=ab, k2=cd, k3=768
k1=K, k2=KK, k3=23

T KF i HEAFR/ X = 4/2025



EX NS : BEESH / JEZSH

29 # AIUBEREANON T Z N TTRSE
30 def func_test2(xargs):
31 for arg, i in zip(args, range(len(args))):
32 print("arg%d=%s" % (i, arg))

func_test2(12, 34, 'abcd’', True)

====func_test2
argd=12
argl=34
arg2=abcd
arg3=True

T KF i HEAFR/ X = 4/2025

39 # AIDAEEENO TR Z T H RS

40 def func_test3(xxkwargs):

41 for key, val in kwargs.items():
42 print("%s=%s" % (key, val))
43

44

45 print("“====func_test3")

46

====func_test3
sep=comma

age=23

myname=Tom

func_test3(myname="Tom", sep="comma", age=23)



RRARMNSE: MESEH / XEFSEH

o HRRENNIER, TJLUSHHIDSE; 16

17
o —HMEREIZHNUBSY 19
func (argl, arg2, arg3ee) g
2SRRGB RN RS HUEN i
24
o —fhERHkeyBIKEBFZSH 2%
func (keyl=argl, key2=arg2ess)
ATFHEE skey, TLARNZRINFBIIN,

o« WRBEA, FENESHNNER, XE8
SSHNNES

T KF i HEAFR/ X = 4/2025

def func_test(keyl, key2, key3=23):
print("kl=%s,k2=%s,k3=%s" % (keyl, key2, key3))

# &BENkey3, HTHREE
func_test('vl', 'v2')

# ENTkey3

func_test('ab', 'cd', 768)

# ERS A URENF
func_test(key2="KK', keyl='K")

====func_test
kl=v1, k2=v2,k3=23

kl=ab, k2=cd, k3=768
k1=K, k2=KK, k3=23




 BRSHRITE

. RYSHEEHRBRAE, AUSENFSHN— MNEN, DRSKORIE. HEHIT
SEBE— M. WESRE (LEEOIIN) REgnTs.

def Swap(x,y):

e $= tmp = x RIFHATE
y = tmp
a=4 a 4
b =5 /
Swap (a,b) b 5
print (a,b) #$>>4, 5 /
X tmp
y

T KF i HEAFR/ X = 4/2025 65



IS AAIES

. RYSHEEHRBRAE, AUSENFSHN— MNEN, DRSKORIE. HEHIT
SEBE— M. WESRE (LEEOIIN) REgnTs.

def Swap(x,y):

tmp = b
xzyx y = tmp $#AT )5
y = tmp
a =14 a :4
b =75 /
Swap (a,b) b .5
print (a,b) #>>4, 5
X tmp
y

7 kit EAE /3 = i/2025 66



IS AAIES

- ERURRHHTIEDP, NEITHSMEOBMOBNAS, NKSAEOESATES
B

def Swap(x,y):

tmp = x[0]
x[0] = y[0] #5Ex,y2IFK, Mx[0],y[0], tmpERREIBET
y[0] = tmp

a = [4,5]

b= [6,7]

Swap (a,b) #HAREG, xflais@tB@itts, yAibvigaBaEMS
print (a,b) #>>[6, 5] [4, 7]
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 BRSHRITE

HASwapR¥HiT " _N.
T SwapREH T5ehT :
tmp = x[0] BY

a [* 750 a [ v (]

mpé\)/ txmpé%k?
b [ b [ ',
/ y/

y
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globalZE=#InonlocalEE

> ’global’ XBFATHFHEEREMBREIMNPENNLEE, "nonlocal’ TERTHHEERK
HSNEREENNEE
kl,k2 =1,2
def £():
nl,n2 = 10,20
def g():
nonlocal nl
global k1l
kl *= 10
nl *= 10
print(k2, n2) #>>2 20
g()
print(kl, nl) #>>10 100
£()

T KF i HEAFR/ X = 4/2025
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SIopiEsE

> RFILHEELSEE, BIUFARHNSEIROE, R —MREERNREENSH
, WHEIROHERRZE, XEFRREFIRN S R,
def square (x):
return x * x
def inc(x):
return x + 1
def combine(f,qg,x):
return f(g(x))
print (combine (square,inc, 4)) #>>25
print (combine (inc,square, 4)) #>>17
def combineFunctions(f,qg):
return lambda x: f(g(x))
print (combineFunctions (square,inc) (4)) #>>25
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7€& (Closure)

> 8. TE
def func(x):
def g(y):
nonlocal x #8 5I{T, FdeEEgPXIxIH{E
x += 1
return x+y
return g

G

S8

ks

E,\I

f = func(10) #Ef2—1HIE, EEHRZEHER1LO
print(£(4)) #>>15
print (£(5)) #>>17
g = func(20) #gB— 1B, EBBTExYIER20
print(g(4)) #>>25

print (g(5)) #>>27
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HENR: RMEXSHEA

o KRR EAIERTIADT,
SHRBBEMERIIT

e ENZ: classiE0);
class <FEL>:

def init (self, <SH#FE>):
def <HESR (self, <BHFED):

o WEREZE: <> (KBE0)
TGS
obj = <ER> (KBHF>)
IRE— P XYZR A,
K EDRsel FHIEIXDINZR LA !

T KF i HEAFR/ X = 4/2025

1 class Force: # 7]

2 def __init_ (self, x, y): # x,yAO5E

3 self.fx, self.fy = x, vy

4

5 def show(self): # FTENHHBYE

6 print("Force<%s,%s>" % (self.fx, self.fy))
7

8 def add(self, force2): # S5%—1HEH

9 X = self.fx + force2.fx

10 y = self.fy + force2.fy

11 return Force(x, y)

12

13

14 # ER—TINR

15 1 = Force(@, 1) R '
16 fl.show() ;.
17 Fi
18 # ERBS—TIRR

19 f2 = Force(3, 4)

20 # ST »

21 f3 = fl.add(f2) (J £
22 f3.show()

Force<0,1>
Fnrce¢3,5}|



RFINIRABEE

o XS T —NEVNFR, BREBEMEADZE (NRRED
o NREBBRURXEXNEE, —TNRRE—TKBISH

o Wmm$ﬁﬁmx§,u&mﬁ‘gﬁ‘?ﬁ$‘ﬁﬁ‘mﬁ\ &, SHEASHIERR
NEE, BEXNR, RHBEXNR

o BUTEMBENERInt, \HPTETHXRloat, SRBMBETHELREstr, JIRFEHISE

m=list....

T KF i HEAFR/ X = 4/2025



ST PR A SRR

15 et def str_ (self):
16 return "F<%s,%s>" % (self.fx, self.fy)
3 17
o EERENXPRY—ERKDE, T 18 def __mul__(self, n):
D@y thon— LB Rl ey
IR OELAA T NRILTTI8 SR 21
22 of def eq_ (self, force2):
 str (self): BB ANZRTS 23 return (self.fx == force2.fx) and \
o 24 (self.fy == force2.fy)
_add__ (self, other): {ERHRIER 37 ¥ B G
—mul__(self, other): fRRMRIFAT 39 ;?-iitHF;dgi%s" % (f3,))
__eq_ (self, other): {EA==1RERT 9 |13 =711 * 4.5

41 print("Fmul=%s" % (f3,))

42 print("%s==%s? —> %s" % (fl, f2, fl1l == f2))

o HUPNF¥57AZ W PythonlilG

https://rszalski. github. io/magicmetho Fadd=F<3 y 5>
dS/ qu 1=F{B " B [ 4 'l 5}

F<0@,1>==F<3,4>7 —> False
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45 ® class Car:

46 def __init_ (self, name):
XEYEEME: KBSEA Sl remainniie - o
49

50 @] »def £i11 _fuel(self, miles): # AUiARIEFE

° Qn%ﬁﬂ\ig_ﬁ “—ﬂﬁ—ﬁ@k” Bgig 51 self.remain_mile = miles

52
e /, [=) ) — |53 def run(self, miles): # fmilesiE
BRR, AR RN o T e, enere
1f 1f. ' 1le >= miles:
KB 3K REX, M “RE 2 RO el
» %E{%ll@*ﬂﬁ% 57 print(“run %d miles!"™ % (miles,))
58 lse:
class <§—;7'§%> (<§Z§'§%>) : 59 : Seprint(“fuel out!")
60
def <BENE (self, ) : 61
62 class GasCar(Car):
63 of def fill_fuel(self, gas): # NS HgasH

° %iﬂ%quﬂa‘ - Q;ﬁﬁﬁ_\t, B/%E”E gg self.remain_mile = gas * 6.0 # SFHeHEE
ﬁﬁﬁ%&%;@tj iﬁﬁﬁgy? gg class ElecCar(Car):

68 of def fill_fuel(self, power): # ZiEEpowerfE
69 self.remain_mile = power x 3.0 # SEHE3EE]

71 gcar=GasCar("BMW") 75 ecar=ElecCar("Tesla") :

: BMW: run 200 miles!
72 gcar-flll_fue1(50-@)l 76 ecar.fill_fuel(60.0) Tesla: fuel out! I
73 car.run(200.0) 77 ecar.run(200.0) . :

T KF i HEAF R/ X = 4/2025
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XIRAVELER

o MBI, BEMEHNNRaMb, REEA == K, H a = b FFa is b

e FTBXEE _ea HE. x =y FMNTF x._ea (y), Bx._ea () LENX, WEMNT
y.__eq_ (x)

print (24.5. eq (24.5)) #>>True

e MIANBWRT, BENZEN_1t_ . gt . _le_ . _ge FNEEWIREA SNone, BIETS  eq
FXLERARE, TLUL = SN, UEXNRTGRA < >, <& >=8THR
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XIRAVELER

class point:
def init (self, x, y = 0):
self.x , self.y = x,y
def eq (self,other):
return self.x == other.x and
self.y == other.y
def 1t (self,other):
#HEBM T pointXNRILUA<HITLHIR
if self.x == other.x:
return self.y < other.y
else:
return self.x < other.x
a,b = point(1,2) ,point(1,2)

print(a == b) #>>True
print(a '= b) #>>False
print(a < point(0,1)) #>>False
print(a < point(1l,3)) #>>True

1st = [a,point(-2,3) ,point(7,8) ,point(5,9) ,point(5,0)]
lst.sort()
for p in 1lst: #>>-2 3,1 2,5 0,5 9,7 8,

print(p.x,p.y ,end = ",")

T KF i HEAFR/ X = 4/2025



XIRAYEN
.« BENREHTEH, KBS copyRMLBITE

class point:
def init (self,x,y):
self.x, self.y = x,y
def copy(self):
return point (self. x, self.y)
a = point (3, 4)

b = a.copy()
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RA—EAFIRR A

IXRF ARG E SHITRIRE

x._len_() len(x), —RRFATRXHNKE

X._str_() str(x), REEHRAFRTER

X.__contains__(y) y in x, FFHIEyEAREXEH
X.__getitem__(index) x[index] tRH#E MRAEIXAITTER, Mok EEE
x._setitem_(index,item) x[index] = item

E K F i EIF R/ X = %/2025



RI—E4SIR A

—class TaggedList: #ICERWIREAIFTIER
def init (self,data, tags):
#ERdata@PMIIRHTTH, tagsBNFIFRIIRHITH, tagsHiFldata—iFEK
self. data = data[:] #PARTESLITRILITELNARZR
self. tags = tags|[:]
self. tagldx = {} #ZFHAFIRIBREEREIINEI TR
for i in range(len(tags)):
self. tagIdx[tags[i]] = i #F¥tags[i] WM FHRi
def len (self):
return len(self. data)
def str (self):
result = ""
for i1 in range(len(self. data)):
result += \
self. tags[i]+":"+str(self. data[i])+","
return result
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RI—E4SIR A

def contains (self, x):
return x in self. data
def getitem (self,index):
if isinstance (index,int): # FfRindexm=%2%]
return self. data[index]
elif isinstance (index,str): # FirindexEFR{IeR
return self. data[self. taglIdx[index]]
else: #TFiFindexFAEBEMNBAEFGE, NEIEILRE
raise Exception ("wrong key type")
def setitem (self,index, item):
if isinstance(index,int) :
self. data[index] = item
else:
self. data[self. tagldx[index]] = item
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RI—E4SIR A

a = TaggedList([70,80,90,100], ["iBX", "#%", "SGE", "¥IiE"])
print(len(a) ,78 in a, 80 in a) #>>4 False True
print(str(a)) #>>IE3:70,#%:80,%&E: 90,41 100,
print(a[0],a['&ZF']) #>>70 80 IrE=HWAULMEATIRBEITTE
a[l] = a['¥PI8'] = 85

print(a) #>>18X:70,#5% 85,315 :90, Y%

: 85,
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